

Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon

(NAAC Accredited Grade-C)

Phone No.- 02586-220024 KBCNMU College Code- 140024 NCTE Code-113021

Fax No.- 02586-223480 E-mail- cbed12@rediffmail.com Website- www.bed.ceschopda.org

Recognized by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

Outward No.- Date:

### Matrix 5.1.4

- Report of the Placement Cell
- Income Expenditure statement
  highlighting the relevant
  expenditure towards student
  concession along with approval/
  sanction letter



Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon

(NAAC Accredited Grade-C)

Phone No.- 02586-220024 KBCNMU College Code- 140024 NCTE Code-113021

Fax No.- 02586-223480 E-mail- cbed12@rediffmail.com Website- www.bed.ceschopda.org

Recognised by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

Outward No.- Date:

Matrix 5.1.4

Report of the Placement Cell



Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon

(NAAC Accredited Grade-C)

Phone No.- 02586-220024 KBCNMU College Code- 140024NCTE Code-113021

Fax No.- 02586-223480E-mail- cbed12@rediffmail.comWebsite- www.bed.ceschopda.org

Recognised by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

### Report of placement cell

Chopda Education Society's College of Education organized an Interview Guidance Programme through its Placement Cell for its II Year B.Ed student teachers on February 14th, 2023. The aim of this programme was to provide students with the necessary skills and knowledge required to perform well in interviews. The programme was conducted by Mr.Tushar Lohar, an alumnus of the institution who currently works as a Graduate Teacher of Pratap Vidya Mandir at a Government High School in Chopda.

During the programme, he shared his personal experiences and provided practical guidance on various aspects of the interview process. The topics covered included resume writing, body language, communication skills, and how to handle difficult interview questions. He emphasized the importance of presenting oneself effectively and professionally during the interview process, highlighting the need to be confident and articulate. The resource person also stressed the significance of researching the organization and its values before attending the interview. This would help the candidates to tailor their responses and demonstrate their suitability for the position.

Overall, the Interview Guidance Programme organized by the Placement Cell was a valuable initiative for the II Year B.Ed student teachers. It provided them with an opportunity to learn from an experienced professional and gain practical insights into the interview process. The programme is expected to enhance their employability skills and enable them to secure desirable positions in the education sector.

On February 15th, 2023, an on-campus placement drive was conducted at the College

of Education for the II Year B.Ed student teachers. Pratap Vidya Mandir English Medium School Chopda organized interview for the school. The students participated in the placement drive. The drive aimed to provide students with an opportunity to secure employment and enhance their employability skills.

The placement drive began with a brief introduction about Educational Institutions and the job profiles on offer. The participating students were then given a brief overview of the company and the job requirements. The job profiles offered were for teaching positions in various subjects, including Mathematics, Science, and Social Science.

After the initial introduction, the interested candidates were shortlisted based on their academic records, communication skills, and overall performance in the selection process. The selection process included a written test and a personal interview. Eight student teachers were provisionally selected for the available job positions. Their details are as follows:

Sr.No.	Name	Subject
1	Patil Jostna Ramesh	English
2	Lohar Gopal Dhanraj	Marathi
3	Mahajan Jayshri Prakash	Geography
4	Dhangar Gayatri Shivaji	Mathematics
5	Pathan Muskan Jivankhan	History
6	Ingale Revati Suresh	Geography
7	Sapkale Amol Gopichand	Chemistry
8	Rajput Punam Rahul	English

The placement drive provided a valuable opportunity for the II Year B.Ed student teachers to secure employment and gain practical experience in the education sector. It is expected to boost their confidence and enhance their employability skills. The college is committed to organizing such placement drives in the future to facilitate better career prospects for its students.

### PRATAP VIDYA MANDIR EDUCATIONAL INSTITUTION CHOPDA

We feel happy to inform you the provisionally selected candidates of your Institution on the campus interview conducted on 15.02.2022 (Wednesday). They will be called for our campus within short. We whole heartedly thank for your Co-Operation and hospitality rendered by you on this day.

### PROVISIONALLY SELECTED CANDIDATES

Sr. No.	Candidate Name	Subject
1	Patil Jostna Ramesh	English
2	Lohar Gopal Dhanraj	Marathi
3	Mahajan Jayshri Prakash	Geography
4	Dhangar Gayatri Shivaji	Mathematics
5	Pathan Muskan Jivankhan	History
6	Ingale Revati Suresh	Geography
7	Sapkale Amol Gopichand	Chemistry
8	Rajput Punam Rahul	English

Dear Ms./Mrs. Mr. Patil Jyostna Ramesh

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.



Venue:

College of Education Chopda,

Shirpur Road,

**Chopda-425107** 

We wish you all the luck!

Dear Ms./Mrs. Mr. Lohar Gopal Dhanraj

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.



Venue:

College of Education Chopda,

Shirpur Road,

**Chopda-425107** 

We wish you all the luck!

Dear Ms./Mrs. Mr. Mahajan Jayshri Prakash

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.



Venue:

College of Education Chopda,

Shirpur Road,

**Chopda-425107** 

We wish you all the luck!

Dear Ms./Mrs. Mr. Dhangar Gayatri Shivaji

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.



Venue:

College of Education Chopda,

Shirpur Road,

**Chopda-425107** 

We wish you all the luck!

Dear Ms./Mrs. Mr. Pathan Muskan Jiyankhan

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.

Lynk

Venue:

College of Education Chopda,

Shirpur Road,

Chopda-425107

We wish you all the luck!

Dear Ms./Mrs. Mr. Ingale Revati Suresh

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.



Venue:

College of Education Chopda,

Shirpur Road,

Chopda-425107

We wish you all the luck!

Dear Ms./Mrs. Mr. Sapkale Amol Gopichand

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.



Venue:

College of Education Chopda,

Shirpur Road,

**Chopda-425107** 

We wish you all the luck!

Dear Ms./Mrs. Mr. Rajput Punam Rahul

This is in response to your application dated on 15/2/2023 applying for the post of UG/PG Asst. teacher that was held at 10.00 am in college of education Chopda Campus.

We are pleased to inform you that you have cleared the first round of elimination and have been selected to appear for an interview with our Panel Members.

You will be called for a formal interview to our campus within short.

You are requested to be on time for the interview. If the date is inconvenient for you, kindly contact the undersigned for an alternative date.



Venue:

College of Education Chopda,

Shirpur Road,

**Chopda-425107** 

We wish you all the luck!



Phone No.- 02586-220024

### **Chopda Education Society's**

### College of Education Chopda, Dist. Jalgaon

Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon (NAAC Accredited Grade-C)

KBCNMU College Code-140024NCTE Code-113021 Fax No.- 02586-223480E-mail- cbed12@rediffmail.comWebsite- www.bed.ceschopda.org

Recognised by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

#### Campus Interview Conducted on \_15/2/2023

The Campus interview was conducted on Chopda Education Society's College of Education, Chopda 2023 Secretary, Principal, and faculty members of Pratap Vidya Mandir Chopda Conducted on-campus interview for the trainees. The selection was made on the basis of written test, performance in teaching and interview.





### **Chopda Education Society's**

### College of Education Chopda, Dist. Jalgaon

Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon (NAAC Accredited Grade-C)

Phone No.- 02586-220024 KBCNMU College Code- 140024NCTE Code-113021

Fax No.- 02586-223480E-mail- cbed12@rediffmail.com Website- www.bed.ceschopda.org

Recognised by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

### Feedback Proforma for Recruiting Institutions

We convey our earnest thanks for your visit to our Chopda Education Society's College of Education to recruit teachers to your Institution. We are very much interested in your feedback relating to your experience with our students and the service you received from our staff. Please help us completing the following feedback form.

- Your response in the feedback form will only be used to improve our various placement activities and programmes of the college.
- We will certainly keep comments and feedback anonymous if you prefer.
- If you wish to provide verbal feedback instead, or, if you have specific issue you wish to discuss with us, please feel free to let us know.

Thank you for your assistance. We immensely value your opinion, and we look forward to seeing you again.

Rajeesh Balan,

Principal

- 1. Name of the Recruiting School: Pratap Vidya Mandir English Medium School Chopda
- 2. Name of the Correspondent/Secretary: Ms Madhuri Mayur
- 3. Name of the Principal: Mr.Rajeesh Balan
- 4. For which level did you recruit teachers?
  - I. Post-graduate teacher
- II.  $\sqrt{\text{Graduate teacher}}$
- III. Primary teacher
- 5. For which subjects did you recruit teachers?
  - I.  $\sqrt{\text{Mathematics}}$
- II. Physics
- III. Chemistry
- IV. Botany
- V. Zoology
- VI.  $\sqrt{\text{Social Science}}$
- VII.  $\sqrt{\text{English}}$
- 6. How would you rate the subject knowledge of the students you interviewed during your visit to our institution?
  - I.  $\sqrt{\text{Very Good}}$
- II. Good
- III. Above Average
- IV. Average
- V. Poor
- 7. How would you rate the communication skills/interviewing skills of the students you interviewed during your visit to our institution?
  - I.  $\sqrt{\text{Very Good}}$
- II. Good
- III. Above Average
- IV. Average

#### V. Poor

8 How would you rate teaching skills (overall) of the students you interviewed during your visit to our institution?

- I. Very Good
- II.  $\sqrt{\text{Good}}$
- III. Above Average
- IV. Average
- V. Poor
- 9. How would you rate subject knowledge and professional skills of the students you Interviewed during your visit to our institution compared to students you have Interviewed at other schools
  - I. Very Good
- II.  $\sqrt{\text{Good}}$
- III. Above Average
- IV. Average
- V. Poor
- 10. How would you rate the general overall quality (educational background, prior work experience, additional supportive skills etc.) of the students you interviewed in our college with students you interviewed at other schools?

Definitely not as good /√Best of all Schools Visited

11. Additional Comments if any:

Date of Campus Interview: 15/2/2023



Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon (NAAC Accredited Grade-C)

Fax No.- 02586-223480E-mail- cbed12@rediffmail.comWebsite- www.bed.ceschopda.org

Phone No.- 02586-220024 KBCNMU College Code- 140024NCTE Code-113021

Recognised by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

### **Campus Interview Conducted on 15/2/2023**

The Campus interview was conducted on Chopda Education Society's College of Education, Chopda 2023 Secretary, Principal, and faculty members of College of Education Chopda

Conducted on-campus interview for the trainees. The selection was made on the basis of written test, performance in teaching and interview.

Lych

### <u>Placement Cell - WhatsApp group communication</u>

Chopda Education Society's College of Education is a renowned institution that offers quality teacher training programs. The placement cell of the college is responsible for helping students secure employment opportunities in various schools and educational institutions. In this digital age, the placement cell has taken a step forward by creating a WhatsApp group to disseminate placement notifications to on-going students and alumni members. This report aims to discuss the benefits of the WhatsApp group and how it can be effectively utilized by the placement cell.

#### Benefits of the WhatsApp Group for Placement Notifications:

#### Quick and Easy Dissemination of Information:

With the majority of students and alumni members using WhatsApp, a WhatsApp group for placement notifications provides an effective and efficient way to share information about job opportunities. The placement cell can instantly notify students and alumni members about new job openings, interview schedules, and other important updates.

#### **Enhanced Communication:**

The WhatsApp group facilitates better communication between the placement cell and students/alumni members. Students can clarify any doubts regarding job opportunities or placement procedures, and the placement cell can provide guidance and support as required.

### **Increased Reach:**

By creating a WhatsApp group for placement notifications, the placement cell can increase its reach to a larger audience. Not only can they inform the current batch of students, but they can also inform alumni members who may be interested in new job opportunities.

#### **Personalized Attention:**

The WhatsApp group enables the placement cell to provide personalized attention to each student. They can interact with students individually and offer guidance and support as required.

### Effective Utilization of the WhatsApp Group:

Regular Updates: The placement cell must ensure that the WhatsApp group is regularly updated with the latest job openings, interview schedules, and other important updates.

#### **Professional Conduct:**

The WhatsApp group should be used for professional purposes only. The placement cell should ensure that all members of the group maintain decorum and professionalism while using the group.

#### Privacy:

The placement cell must ensure that the privacy of the students and alumni members is maintained. They should refrain from sharing any personal information on the group and take necessary measures to secure the group.

The creation of a WhatsApp group for placement notifications is a commendable initiative by the Chopda Education Society's College of Education's placement cell. The WhatsApp group can help in quick and easy dissemination of information, enhance communication, increase reach, and provide personalized attention to each student. The placement cell must utilize the group effectively to ensure that the students and alumni members receive the necessary guidance and support to secure their dream jobs.

The placement cell of Chopda Education Society's College of Education has created a WhatsApp group for students and alumni members who are preparing for competitive/eligibility exams. The group aims to provide a platform for students to interact with each other, share study materials, ask doubts, and receive updates on exam notifications, schedules, and results. The placement cell hopes that this initiative will help students and alumni members to prepare better and increase their chances of success in competitive exams. The group is expected to enhance communication and offer personalized attention to students, making the exam preparation process more efficient and effective. The placement cell will monitor the group to ensure that it is used for professional purposes only and that the privacy of the members is maintained.



Principal
College of Education
Chopde Dist Jelgaon



Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon

(NAAC Accredited Grade-C)

Phone No.- 02586-220024 KBCNMU College Code- 140024 NCTE Code-113021

Fax No.- 02586-223480 E-mail- cbed12@rediffmail.com Website- www.bed.ceschopda.org

Recognized by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

### **CHOPDA EDUCATION SOCEITY'S**

### COLLEGE OF EDUCATION, CHOPDA

# PLACEMENT CELL MOCK INTERVIEW





















Principal
College of Education
Chopde Dist Jelgaon



Arunoday Colony, Old Shirpur Road, CHOPDA Dist. Jalgaon

(NAAC Accredited Grade-C)

Phone No.- 02586-220024 KBCNMU College Code- 140024 NCTE Code-113021

Fax No.- 02586-223480 E-mail- cbed12@rediffmail.com Website- www.bed.ceschopda.org

Recognised by N.C.T.E. New Delhi and Affiliated to Kavayitri Bahinabai Chaudhari North Maharashtra University, Jalgaon

Outward No.- Date:

### Matrix 5.1.4

Income Expenditure statement
highlighting the relevant
expenditure towards student
concession along with approval/
sanction letter

#### University Share Fee Collection

Academic Year : 2018-2019

2018-2019 -

B.Ed. -II

Report Criteria:

Faculty: Faculty of Education, Course: B.Ed. (with Credits)-Regular-CGPA [60+40] Pattern, Course Part: Part-II, Course

College : Chopda Education Society's College of Education, Chopda

Number of Students: 44

Course \ Fee Heads	Ashw	Tran	pute rizat	Man age men	ty	e- Suvid ha Fee	Ch an	Gym khan	al	Oth er	ver	Stud ent Aid	Adm issio	min	gis tra tio n	den t Acti viti	Grou p Insur ance	Su bje ct Cha nge Fee	Unive risty / Colleg e Devel opme nt Fund	Total
Part-II - Regular - CGPA [60+40] Pattern-Sem-III	1056	0	440	440	0	2200	0	1804	0	0	0	660	- 0	0	0	880	440	0	880	.8800
Total	1056	0	440	440	0	2200	0	1804	0	0	0	660	0	0	0	880	440	0	880	8800

#### Actno Medgement:

	RTGS Transaction Details):		
Date	16/08/2018	Mandate No	154131777
College Name	Chopda Education Society's Colle	ege of Education, Chopda IChop	
Debit Account No	067121100000113	IFSC of Remitter Bank	BKID0000671
Credit Account No	3317252879	IFSC of Beneficiary Bank	CBIN0284435
RBI Ref.ld / UTR	BKJ DN 18233199984	Amount	Rs. 8800.00

(Bank Authority Sign and Seal)



Acknowledgement		-2018-19	- 3.图·11
For Bank Use (NEFT	/RTGS Transaction Details):		2 2 2 7
Date	16/08/2018	Mandate No	154131777
College Name	Chopda Education Society's Colle	ege of Education, Chopda [Chop	da,Chopada]
Debit Account No	067121100000113	IFSC of Remitter Bank	BKID0000671
Credit Account No	3317252879	IFSC of Beneficiary Bank	CBIN0284435
RBI Ref.id / UTR	BKJ ON 18233199984	Amount	Rs. 8800.00

(Bank Authority Sign and Seal)



#### University Share Fee Collection

Academic Year: 2018-2019

Report Faculty: Faculty of Inter-disciplinary, Course: B.Ed. (with Credits)-Regular-CGPA Criteria: Choice Based Credit System, Course Part: B.Ed. Part-1, Course Part Term: Sem-I

College : Chopda Education Society's College of Education, Chopda

Number of Students: 50

2018-19

B.Ed-I

College Code	Eligibili ty Form No	Student Name	PRN		Invoic e Desc	Mandate Number	а	Mand ate Status	Category	Suv idh a Fee	sa ste r Ma na ge	ud en t Gr ou p In	h w a m ed h Fe	ris ty / Co Ile ge	or St ud en t Ai	mp	ud en t Ac tiv iti es Fe	m kh an a Fe e	ibili ty Fee	- Ad mi ssi on Fe	o II e g e T r	bj ec t Ch an ge	cu Ity Ch an ge	e- E x a m in at	t li h i e i v i e i v i	r i	g d is ci tr l a F	
140024	154-93- 2018- 41455	BHADALE RAVINA YUVARAJ	Not Availa ble	3326	Invoice for B.Ed. Part-I - Sem-I -	154132489		Not Reconc iled	General (belonging to Maharashtra State)		10	10	24	20	15	10	20	41	100	0	0	0	0	0	0	0	0	304
	154-93- 2018- 41456	PATIL SEEMABAI DIGAMBER	Not Availa ble	3326	Invoice for B.Ed. Part-I - Sem-I -	154132489	1	Not Reconc iled	General (belonging to Maharashtra State)	50	10	10	24	20	15	10	20	41	100	0	0	0	0	0	0	0	0 4	304
	154-93- 2018- 41457	PAWAR PRIYA SURESH	Not Availa ble	3326	Invoice for B.Ed. Part-1 - Sem-1 -	154132489	1	Not Recond iled	General (belonging to Maharashtra State)	100 300	10	10	24	20	15	10	20	41	100	0	0	0	0	0	0	0	0 3	304

.

٠. ر

. 3

154-93- 2018- 41960	PATIL PRIYANKA RAJENDRA	Not Availa ble	3326	Invoice for B.Ed. Part-I - Sem-I -	154132489	1	Not Recond iled	General (belonging to Maharashtra State)	50	10	10	24	20	15	10	20	41	100	0	0	0	0	0	0	0	0 4	304
154-93- 2018- 41965	PAGAR NANDU BANSILAL	Not Availa ble	3326	Invoice for B.Ed. Part-I - Sem-I -	154132489	1	Not Reconc iled	General (belonging to Maharashtra State)	50	10	10	24	20	15	10	20	41	100	C	0	0	0	O	O	0	0 4	
154-93- 2018- 41971	PATIL KAMLESH DIGAMBAR	Not Availa ble	3326	Invoice for B.Ed. Part-I - Sem-I -	154132489	1	Not Reconc iled	General (belonging to Maharashtra State)	50	10	10	24	20	15	10	20	41	100	0	0	0	0	0	0	0	0 4	304
154-93- 2018- 42186	PAWAR JAYASHRI DHARMRAJ	Not Availa ble	3326	Invoice for B.Ed. Part-I - Sem-I -	154132489	1	Not Reconc iled	General (belonging to Maharashtra State)	50	10	10	24	20	15	10	20	41	100	0	0	0	0	0	0	0	0 4	304
154-93- 2018- 42443	BARI AMRUTA PUNDLIK	Not Availa ble	3326	Invoice for B.Ed. Part-I - Sem-I -	154132489	1	Not Reconc iled	General (belonging to Maharashtra State)	50	10	10	24	20	15	10	20	41	100	0	0	0	C	0	C	0	0 4	304



College of Education Chorda Dst. Jalgaon



### Chopda Education Society's College of Education, Chopda Chopda City: Chopda, Pin: 425107, Tehsil:Chopada, State:Maharashtra

Report Criteria:

Faculty: Faculty of Education, Course: B.Ed.-Regular-CGPA [60+40] Pattern, Course Part: Part-II, Course Term: Part-II

## Repeaters Fee Collection Report - Repeaters - 2019-20 College: Chopda Education Society's College of Education, Chopda

C	ollege Code/ E Student i	ligibility Form Name / PRN	No/	e- Suvid ha Fee		Stude nt Group Insur ance Fee	. 1.	risty	Stude nt Aid		Stude nt Activi ties Fee	hana	Eligi bilit y Fee	Adm	Tran sfer	ect	ult y Cha	Exa mina tion Fee	Othe r Univ ersit y Fee	r Fee	strat	Medi cal Fee	Total
9	154-93-2017- 39919	CHACHAN RUPESH SANJAY	201701 540047 6462	50	10	20	24	20	15	10	20	41	0	0	0	0	0	0	0	0	0	0	210
	154-93-2017- 39997	PATIL SUMIT PRAKASH	201701 540047 6663	50	10	20	24	20	15	10	20	41	0	0	0	0	0	0	0	0	0	0	210
14	154-93-2017- 39994	PAWARA DINESH JAMSING	201701 540047 6632	50	10	20	24	20	15	10	20	41	0	0	0	0	0	0	0	0	0	0	210
24	154-93-2017- 39995	PAWARA SHARAD KALURAM	201701 540047 6647	50	10	20	24	20	15	10	20	41	0	0	0	0	0	0	0	0	0	0	210
	154-93-2017- 40014	SONAWANE PRIYANKA DILIP	201701 540047 6713	50	10	20	24	20	15	10	20	41	0	0	0	0	0	0	0	0	0	0	210
	154-93-2017- 40034	PTAIL SACHIN SANJAY	201701 540047 6791	50	10	20	24	20	15	10	20	41	0	0	0	0	0	0	0	0	0	0	210
				300	60	120	144	120	90	60	120	246	0	1000	262	786°F	10	0	0	0	0	0	1260

College of Education Chooda Dist-Jalgaon



### चोपडा एज्युकेशन सोसायटी संचालित, शिक्षणशास्त्र महाविद्यालय, चोपडा, जि.जळगांव.

फोन नं.- 02586 - 283315

(नॅक प्रमाणित)

(क.व.ची,उमवि संलीन्तत) नं 140024

फॅक्स नं. 02586-223480

www.bed.ceschopda.org

NCTE Code No. 113021

可流 400×205 C-20

ह ७०००००००

प्रति.

म. उपकुलसचिव साो.,

वित्त विभाग,

क.ब.चौ. उत्तर महाराष्ट्र विद्यापीठ,

जळगांव.

विषय :- शे. वर्ष 2019-20 बी.एड (व्यितीय वर्ष ) Online Report स्विकारणे वायत...

महोदय.

उपरोक्त विषयान्वये की, शै. वर्ष 2019-2020 करीता वी.एड अभ्यासक्रमास आमच्या मर्ढाक्कान्यात प्रवेशित एकूण 49 विद्यार्थ्यांची प्रत्येकी 210/-रु. फी प्रमाणे एकूण (210x49=18290/-) एक्जिन फी 18290/- Online पन्नतीन भरुन सोवत बॅकचे Manadate No. 14015410035 दि. 14/8/2019 Acknoelgement झेरॉक्स प्रत व Online Report व तपशिलवार विद्यार्थी संख्या दर्शविणा तक्ता सोवत देत आहोत. तरी स्विकार होणेस विनंती. कळावे.

### सोवत:- फी ची तपशिलवार माहिती

पकृण	<b>:-</b>	49 x210 =10290/-
9) विद्यार्थी सुरक्षा विमा	:-	$49 \times 20 = 980$
8) विद्यापीठ विकास	:-	49 x20 = 980/-
7) विद्यार्थी उपक्रम	:-	$49 \times 20 = 980$
6) गरीव विद्यार्थी फी	:-	$49 \times 15 = 735/-$
5) क्रिडा फी	:-	49 x41 = 2009-
4) ई- सुविधा फी	1:2	49 x50 = $2450/$ -
3) आपत्काली <b>न फी</b>	;-	49 x10 = 490/-
2) संगणकशुल्क	:-	$49 \times 10 = 490/-$
1) अश्वमेघ फी		$49 \times 24 = 1176/-$

आपला विश्वासू,

तिस्याधारम् मृद्यविद्यात्यः संतर्भ दिरुखश्रमाव

#### University Share Fee Collection

Academic Year: 2019-2020

Report Criteria: Faculty: Faculty of Inter-disciplinary, Course: B.Ed. (with Credits)-Regular-under CBCS Annual Pattern, Course Part: B.Ed. Part-I, Course Part Term: B.Ed. Part-I

College : Chopda Education Society's College of Education,Chopda Number of Students : 50

Course \ Fee Heads	Ashw amed h Fee	lle ge	uteriz ation Fees	ter	bility Fee	e- Suvidha Fee	ult	hana Fee		he r Fe e	he r Un iv er	r Stu den t Aid	Ad mi ssi on Fe	e- E X a	gis tra tio n Fe	ent Activ	nt Grou p Insur ance Fee	bje ct Ch an ge Fe	Univer isty / Colleg e Devel opme nt Fund	Total
B.Ed. Part-I - Regular - under	1200	0	500	500	5000	2500	0	2050	200	- 0	0	750	_	e	_			11		
Total	1200	0	500		5000			2050			U	750	0	0	0	1000	1000	0	1000	1570



Principal
College of Education
Chooda Dist-Jalgaon



### चोपडे एज्युकेशन सोसायटी संचलित

### शिक्षणशास्त्र महाविद्यालय, चोपडा. जि. जळगांव.

फोन.नं. - ०२५८६ - २८३३१५ फॅक्स नं. - ०२५८६ - २२३४८० (नॅक प्रमाणित)

www.bed.ceschopda.org

कॉलेज कोड (क.ब.चौ.उगवि संलग्नित)नं.- १४००२४

एन.शी.टी.ई. कोड र्न. -११३०२१

जावक कं. - 469 स्2098- 15

विनांक - 2919912096

प्रति,

म.सहा.कुलसचिव साो., प्रवेश व पात्रता विभाग, उत्तर महाराष्ट्र विद्यापीठ, जळगांव.

विषय:- शे.वर्ष २०१९-२० <mark>बी.एड.(प्रथम वर्ष)</mark> Online Report स्विकारणे वायत..

महोदय,

उपरोक्त विषयान्वये विनंती की, आमच्या महाविद्यालयात शे.वर्ष २०१९ - २० ( प्रथम वर्ष ) प्रवेशित एकूण ५० विद्यार्थ्यांची प्रत्येकी ३१४/- रु की प्रमाणे ( ३१४ x ५० ) एकत्रित की १५७००/- Online पघ्दतीने भरुन सोबत बँके चे Mandate No. -८४२० N 19325153797 दिनांक - /११/२०१९ Acknowledgement झेरॉक्स प्रत व Online Report तसेच ५० विद्यार्थ्यांचे विहीत नमुन्यात आवश्यक प्रमाणपत्रांसह पात्रता अर्ज आमच्या महाविद्यालयाचे प्रतिनिधी श्री. शरद पाटील यांच्या सोबत सादर करीत आहोत. तरी स्विकारणे होणेस विनंती.

कळावे.

आपला विश्वास्,

अ.क्रं.	तपशिल			MA
1	E- Suvidha Fee	50 X 50 =	2500.00	ALI
2	Disaster Management Fee	50 X 10 =	500.00	्रेषाचार्य
3	Stuednt Group Insurance Fee	50 X 20 =	1000.00	शिक्षणशास्त्र महाविद्य
4	Ashwamed Fee	50 X 24 =	1200.00	े घोषडा जि.ज्ह्यमां
5	Univeristy College Devel. Fee	50 X 20 =	1000.00	
6	Poor Student Aid Fee	50 X 15 =	750.00	
7	computerixation Fee	50 X 10 =	500,00	
8	Student Activities Fee	50 X 20 =	1000,00	
9	Gymkhana Fee	50 X 41 =	2050,00	
10	Eligibility Fee	50 X 100 =	5000.00	
11	Medical Fee	50 X 4 =	200.00	
	Total	50 X 314 =	15700.00	

#### University Share Fee Collection

Academic Year: 2020-2021

Report Criteria: Faculty: Faculty of Inter-disciplinary, Course: B.Ed. (with Credits)Regular-under CBCS Annual Pattern, Course Part: B.Ed. Part-II,
Course Part Term: B.Ed. Part-II

College: Chopda Education Society's College of Education

Number of Students: 50

Course \ Fee Heads	h Fee	ol le g	pute rizat ion Fees	ster Man age	li g i	Suvid ha Fee	cu	Fee	e di c al F	t h e r F	he r U ni	r Stu dent Aid Fee	e- A d m is	Ex a mi na tio n Fe	eg ist ra ti on Fe	nt Activi ties Fee	nt Group Insur ance	bje ct Ch an	Univeri sty / College Develop ment Fund	100000.0000
B.Ed. Part-II - Regular - under CBCS Annual Pattern-B.Ed. Part-II	1200	0	500	500	0	2500	0	2050	0	0	0	750	0	0	0	1000	1000	0	1000	10500
Total	1200	0	500	500	0	2500	0	2050	٥	0	0	750	0	0	0	1000	1000	0	1000	10500

College of Education Chosena Dist Jalgaon



### चोपडा एज्युकेरकः सोसायटी संचालित,

### शिक्षणशास्त्र महाविद्यालय, चोपडा, जि.जळगांव.

नं.- 02586 - 283315

क्स नं. 02586-223480

(क.ब.चौ.उमवि संलग्नित) नं.140024

www.bed.ceschopda.org

(नॅक प्रमाणित)

NCTE Code No. 113021

जाकं 4682) 2020-29

E 0890/4020

प्रति.

म. उपकुलसचिव साो.,

वित्त विभाग,

क.ब.चौ. उत्तर महाराष्ट्र विद्यापीठ,

जळगांव.

विषय :- शै. वर्ष 2020-21 बी.एङ (ब्दितीय वर्ष ) Online Report स्विकारणे बाबत..

महोदय,

उपरोक्त विषयान्वये की, शै. वर्ष 2020-2021 करीता बी.एङ अभ्यासक्रमास आमच्या महाविद्यालयात प्रवेशित एकूण 50 विद्यार्थ्यांची प्रत्येकी 210/-रु. फी प्रमाणे एकूण (210x50 =10500/-) एकत्रित फी 10500/- Online पध्दतीने भरुन सोबत बॅकचे Manadate No. 20273791546 दि. 26/09/2020 Acknoelgement झेरॉक्स प्रत व Online Report व तपशिलवार विद्यार्थी संख्या दर्शविणा तक्ता सोबत देत आहोत. तरी स्विकार होणेस विनंती. कळावे.

### सोबत :- फी ची तपशिलवार माहिती

एकूण	i-	50 x210 =10500/-
) विद्यार्थी सुरक्षा विमा	;-	$50 \times 20 = 1000/-$
) विद्यापीठ विकास	:-	$50 \times 20 = 1000/-$
) विद्यार्थी उपक्रम	:-	$50 \times 20 = 1000/-$
6) गरीव विद्यार्थी फी	:-	$50 \times 15 = 750/-$
5) क्रिडा फी	:-	$50 \times 41 = 2050/-$
4) ई- सुविधा फी	1	$50 \times 50 = 2500/-$
3) आपत्कालीन फी	:-	$50 \times 10 = 500/-$
2) संगणकशुल्क	:-	$50 \times 10 = 500/$
1) अश्वमेघ फी	i-	50 x24 = 1200/-

#### **University Share Fee Collection**

Academic Year: 2021-2022

Faculty: Faculty of Inter-disciplinary, Course: B.Ed. (with Credits)-Regular-under CBCS Annual Pattern, Course Part Report Criteria:

College: Chopda Education Society's College of Education

Number of Students: 51

	. 1	-		n:	EI		Fac	G	M	0	0	P	R	R	R	s	Stud	S	Univeris	Total	
Course (			Co						e	142		GC 1	2000	1509907			ent	u	ty /		- 1
						Suvid	ult			100	1.	-					Grou	hi	Colleg€		- 1
	h	ge	ute	ste	ib	ha		m				ļ.,					Marian Commencer	2	Develop	į.	- 1
	w	Tr	riza	r	ili	Fee	Cha	k	ļi.	e	e	St	d	x	st	a	P				_ 1
	a	an	tio	Ma	tv		nge	h	c	г	r	u	m	а	г	e	Insur		ment	1	
		sf	n	na	F		Fee			F	U	de	is	m	a	n	ance	C	Fund		- 1
	3.7	er	2					n	1	e	n	nt	si	in	ti	t	Fee	h	11		- 1
1	200	Fe	Service d	me	82			a		e	100	Ai						a	1	l	- 1
		100		nt	1			F	e	100	V	d	n	lio	n	c		n	1	1	- 1
	10	e	1	Fe	1	1		e	e		6	Fe	F	n	F	ti	1	g	4. 1	1	- 1
	F			18.5	1	1	1		1-	1		e	e	_	e			e			- 1
	е	0	1	e	1		1	e		1		1			1000	1		F		1	- 1
	e		1		1		1	l			si		e	1	10	1:	1	1.		1	- 1
		1	8		1	1	10	1	1	1	t	1	1	e	1	1	1	e	25	1	- 1
		1		1		1		1	1	1	Y			1	1	e	1	e		1	
(				1		1		1	1		F			1	1	5				1	- 1
		l l	1	1					1		e					F					
- CDCC Arrival	-		0 510	1	0 0	255	0 0	1	0	10	0	0	0	0	) (	0	1020	0	1020	) 5	100
B.Ed. Part-II - Regular - under CBCS Annual	0	+	_	-	-	255	_	-	0 0	-	10	1 (	1 (	1 0	-	0	_	0	0 1020	5	100
Total	0		0 51	0	0	255	0	,	1	1	, 1	, ,	1	1	1,	,	1 -01	-	100,		

Acknowledgement:

FOR BANK USB (NEFT)	/RTGS Transaction Details):		
Date	12/03/2022	Mandate No	16015412469
College Name	Chopda Education Society's College	e of Education [Chopda,Chopa	ada]
Debit Account No	067121100000113	IFSC of Remitter Bank	BKID0000671
Credit Account No	NMUCBI16015412469	IFSC of Beneficiary Bank	CBIN0284435
RBI Ref.ld / UTR	BKIDH22073248641	Amount 10608/-	Rs. 10608.00

(Bank Aunority Sign and Seal)

### University Share Fee Collection

Academic Year : 2021-2022

Report Faculty: Faculty of Inter-disciplinary, Course: B.Ed. (with Credits)-Regular-under CBCS
Criteria: Annual Pattern, Course Part: B.Ed. Part-1, Course Part Term: B.Ed. Part-1

College: Chopda Education Society's College of Education

Number of Students: 52

College	Eligibilit y Form No	Student Name	PRN	Invoi ce Numb er	Invoice Desc	Mandate Number	Ma nda te Nar rati on	Statu	Categor	Su vi dh a	i s a s t e r	ud en t Gr ou p In su ra nc	s h was a med h control of the contr	iv v v v v v v v v v v v v v v v v v v	o r r r r r r r r r r r r r r r r r r r	n i e iz i i i i i i i i i i i i i i i i	u nke a a a a a a a a a a a a a a a a a a a	n Fe	ility cc	e- A d m is si	Ile ge Tr an sf er Fe	u bject Change Fee	a cult y Chan	E to x in can be a still to F	h h er e J e d e	r gi e st	e di c al F e	Total	
140024		SHARMA PRIYA ASHOK	Not Available		Invoice for B.Ed. Part-I B.Ed. Part-I Eligibility dt. Mar 12 2022 2:21PM	16015412 469	1	Recon ciled	General (belongin g to Maharas htra State)		e e 0	20	0	20	0 1	10	0	0	100	0	0	0	0	0	0 0	0	4	204	



### चोपडे एज्युकेशन सोसायटी संचलित

### शिक्षणशास्त्र महाविद्यालय, चोपडा. जि. जळगांव.

फोन.नं. - ०२५८६ - २८३३१५

(नॅक प्रमाणित) कॉलेज कोड (क.व.ची.उमिव संलिग्नित)नं.- १४००२४

फॅक्स नं. - ०२५८६ - २२३४८०

www.bed.ceschopda.org

एन.सी.टी.ई. कोड नं. -११३०२१

जावक कं. - 4 (33/2022-2903900990

दिनांक - 9 91091402 3

प्रति,

म.सहा.कुलसचिव साो.,

प्रवेश व पात्रता विभाग,

क.ब.चौ.उत्तर महाराष्ट्र विद्यापीठ,

जळगांव.

विषय:- शै.वर्ष २०२२-२३ बी.एड.(प्रथम वर्ष) Online Report स्विकारणे बाबत...

महोदय,

उपरोक्त विषयान्वये विनंती की, आमच्या महाविद्यालयात शे.वर्ष २०२२-२३ ( प्रथम वर्ष ) प्रवेशित एकूण ५५ विद्यार्थ्यांची प्रत्येकी ५३४/- रु फी प्रमाणे ( ५३४ x ५५ ) एकत्रित फी -२९३७०/-Online पध्दतीने भरुन सोबत बँके चे Mandat No.BKIDN 23009885501 दिनांक - ०९/०९/२०२३ Acknowledgement झेरॉक्स प्रत व Online Report तसेच ५५ विद्यार्थ्यांचे विहीत नमुन्यात आवश्यक प्रमाणपत्रांसह पात्रता अर्ज आमच्या महाविद्यालयाचे प्रतिनिधी श्री.एस.डी. पाटील यांच्या सोबत सादर करीत आहोत. तरी स्विकारणे होणेस विनंती.

कळावे.

आपला विश्वासु,

शिक्षणशास्त्र महाविद्यालय चोपडा जि लढगांव

		विद्यार्थ्यां फी	एकूण फी
अ.क्रं.	तपशिल	300 x 55	16500
1	Eligibility Fee	10 x 55	550
2	Computerzation Fee		1320
3	Ashwamedh Fee	24 x 55	1650
4	Yuva Rang Fee	30 x 55	2750
	e-Suvidha Fee	50 x 55	1 1 W.
5		10 x 55	550
6	Student Activities Fee	20 x 55	1100
7	Uni./College Devel.Fee	05 x 55	275
8	Medical Fee	10 x 55	550
9	Disaster Management Fee	30 x 55	1650
10	Gymkhana Fee	15 x 55	825
11	Poor Student Aid Fee	20 x 55	1100
12	Occup Insturance	10 x 55	550
	Tiananace Fee		29370
13	Total	534 x 55	

010

### -- Cut Here I-

### Acknowledgement:

Acknowledgement:			
For Bank Use (NEFT/I	RTGS Transaction Details):	The ren	17015413146
Date	08/01/2023	Mandate No	
College Name	Chopda Education Society's C	College of Education [Chopda,Chop	adaj
Debit Account No	067121100000113	IFSC of Remitter Bank	BKID0000671
ESTABLISHED OF THE STATE OF THE	NMUCBI17015413146	IFSC of Beneficiary Bank	CBIN0283166
Credit Account No	PARAMETER AND THE STATE OF THE	Amount	Rs. 29370.00
RBI Ref.ld / UTR	BKIDH 2300988S	,301	MIN SA

(Bank Authority Sign and Seal)



## चोपडे एज्युकेशन सोसायटी संचलित शिक्षणशास्त्र महाविद्यालय, चोपडा. जि. जळगांव.

<sub>कोन</sub> नं. - ०२५८६ - २८३३**१**५ कॅक्स नं. - ०२५८६ - २२३४८०

(नकॅ प्रमाणित)

www.bed.ceschopda.org

कॉलेज कोड (उमवि संलग्नित)नं.- १४००२४ एन.सी.टी.ई. कोड नं. -११३०२१

जावक कं.- 4/2/012022-23

101100110

दिनांक - ५-११-२०२२

आपला विश्वास्,

प्रति, म. सहा.कुलसचिव साो., प्रवेश व पात्रता विभाग, कवियत्री बहिणाबाई चौधरी उत्तर महाराष्ट्र विद्यापीट, जळगांव.

विषय:- शै.वर्ष २०२२-२३ <mark>बी.एड.(व्दितीय वर्ष)</mark> Online Report स्विकारणे बाबत..

महोदय,

उपरोक्त विषयान्वये विनंती की, आमच्या महाविद्यालयात शे.वर्ष २०२२ - २३ (व्दितीय वर्ष) प्रवेशित एकूण ५२ विद्यार्थ्यांची प्रत्येकी २१०/- रु फी प्रमाणे ( २१० x ५२ ) एकत्रित फी -१०,९२०/- Online पध्दतीने भरुन सोबत बँके चे Mandate No. - BKIDY २२३२८७९९०२७ दिनांक - २४ / ११ /२०२२ Acknowledgement झेरॉक्स प्रत व Online Report तसेच ५२ विद्यार्थ्यांचे विहीत नमुन्यात आवश्यक प्रमाणपत्रांसह पात्रता अर्ज आमच्या महाविद्यालयाचे प्रतिनिधी श्री. भुष्ठ ११ क्रिप्रांश केळी यांच्या सोबत सादर क्रीत आहोत. तरी स्विकारणे होणेस विनंती.कळावे.

अ.कं. तपशिल विद्यार्थी फी शिक्षणशास्त्र महाविद्यालय E- Suvidha 52 X 50 2600/-चोपडा जि.जळगांव 2 Disaster Management Fee 52 X 10 520/-3 Student Group Insurance Fee 52 X 20 1040/-Ashwamedh Fee 52 X 24 1248/-5 University College Deval. Fee 52 X 20 1040/-Poor Student Aid Fee 52 X 15 780/-

520/-52 X 10 computerixation Fee 52 X 20 1040/-Student Activities Fee

Gymkhana Fee

52 X 41 2132/-

एकूण फी:-

52 X 210

10920/-

कवियेत्री वहिणाबाई चौधरी उत्तर महाराष्ट्र विधापीठ जळकाव मा.बित्त व लेखा अधिकारी कक्ष पत्र मिळाले दिनांक :: 05/12/2

### University Share Fee Collection

Academic Year: 2022-2023

Report Criteria:

Faculty: Faculty of Inter-disciplinary, Course: B.Ed. (with Credits)-Regular-under CBCS Annual Pattern, Course Part:

College: Chopda Education Society's College of Education

Number of Students: 52

Course \ ree neads		lle ge Tr	pute rizat ion Fees	ast er Ma nag	ig ib iii ty F e	Suvid ha	cul ty	Gym khan a Fee	e di c	he r Fe	he r U ni	stu dent Ald Fee	Ad mi ssi on	ex am ina tio n	gi str ati	Act itle Fee	ent Grou	u bj ec t C h	Colle ge Devel opme nt Fund	
No Decides under CRCS Annual	1248	3 (	520	520	0 0	2600	0	213	2 0	0 1	0 0	0 780	0 0	0 0	0	0 10	10	40		10920
B.Ed. Part-II - Regular - under CBCS Annual Pattern-B.Ed. Part-II Total	124	3 (	520	520	0 0	2600	0 0	213	2	0	0	0 78	0	0	0	0 10	10	40	0 104	10920



शिक्षणशास्त्र महाविद्यालय चोपडा जि.जळगांव